1:1

HLMH BYEIVOV




1:2

AN
3
N
@)
S
g
S

SL/H BYBIVOT~_







1:4




911 KYEIVOV

1:5



1:6

\

HLMH BYEIVOYT

¥ 2:6







gom vv3d3u AHMVId] B

1:8


















T~

L= BVE3IVOV ~_

* 17
$ 3.7

2:7









HLVH BYE3VOoY

3:2



* 23







* 2:5




3:6

* 2:6

oL/H Ky33avov

~

¥ 4:6




/ * 27




HLMH BY

3:8



AL/H BYBRVOY  ~_

+ 3:1

YHAVIH3T KEHYvE

4 5:1

H(

4:1









53VOV 91 1] vvdddd FHVId3 ] BMHAV

4:8



5:1

* 4:1

O[]

EJIEVA “Yrimvm

= 7




* 4:2




* 4:6




5:8




* 4:8






